SOUTH WESTERN RAILWAY
GROUP ‘C' ACCOUNTS DEPT (LDCE) EXAMINATION — 2024
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1. Answer can be written in English or Hindi ‘?".'y 4 into
2. The written test consists of one paper divide
namely Part A and Part B _ :ons
. uestions,
3. Total marks is 100 with 100 objective multiple choice 4
each question carrying 1 mark. f
i i rom
4. There are 110 questions out of which 10 questions e
Rajbasha which is optional
5. There will be negative markings .
6. The candidate should answer a question by writing down the

alphabet (in capital indicating his choice against the question
number. For Ex. Q NO 1 - A).

7. Answer the questions only in the answer booklet supplied.

8. Prohibition on indication of the name or any other
identity/symbols of the candidate in the answer script, except in
the columns provided on the fly-leaf of the answer sheet.

9. Non-permissibility of logarithmic table, electronic gadgets such
as calculator, cell phones etc., in the examination hall.

While answering objective type questions, no corrections of

any type like cutting, overwriting, erasing, scoring off a ticket

answer in multiple choices & ticking another answer and
modifying the answer in any way etc is not permitted. In case

any corrections are made, such answers shall not be evaluated
at all.

two parts

10.

11.  In the case of questions where choice is

. there (i.e., where onl
certain small number of questions to be answered from :
larger number of questions given in the question paper)

the answers for the re bl

uired i .
will be evaluated. d nO. of questions attempted first




Y
PART - A

/ GENERAL ENGLISH
(50 X 1 =50 MARKS)

FILL IN THE BLANK WITH CORRECT FORM OF VERB:

1. My friend .......... the Principal yesterday

A. See
B. have seen

C. saw
D. was seeing

2. The baby ............ all morning
A.Cries
B.has been crying
C.was crying

D.None of the above.
3. She jumped off the bus when it ......

A.Moved

B.has moved
C.was moving
D.has been moving

4. Don't disturb me. | ....... my homework

A.Do

B.Did
C.am doing
D.will do

5. he know that tomorrow you will be on leave?

A. Does
B. Have
C. Has
D. Do
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G
FIND THE MOST APPROPRIATE SYNONYM FOR THE FOLLOWIN
WORDS:

6. SCRUTINY

A. Bifurcation
B. Dereliction
C. Perusal
D. Honest

7. GRADUALLY

A. Boil
B. Slowly
C. Hot
D. Quickly

8. STARVING

A. FULL
B. Angry
C. Busy
D. Hungry

9. REMEMBER

A. Forget
B. Discuss
C. Explain
D. Recall

10. CONCURRENCE

A. Acceptance
B. Conflict

C. Important
D. Diminish
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/ FIND THE MOST APPROPRIATE ANTONYM FOR THE FOLLOWING
/ WORDS:

!‘v
4

11. MIGHTY

A. Tough
B. Haughty
C. Weak

D. Forceful

12.  DIVIDED

A. Dignified
B. Separated
C. Isolated
D. United

13. ATTRACTIVE

A. Loathsome
B. Repulsive
C. Clear

D. Rigid

14. PERMIT

A. Give

B. Allow

C. Forbid
D. Preserve

15. TRIVIAL

A. Serious
B. Intricate
C. Calm
D. Daily
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WORD:
FILL IN THE BLANK WITH THE MOST APPROPRIATE WORD

lution.
16. Please this matter We need an urgent s0

A look into
B look after
C. look to
D. look up to

17 | have a Cheese Sandwich, please?

A Do
B. Does
C. Can
D. Am

18. The boy in the Dentist’s chair has got a toothache

A. Sitting
B. Sat
C. Sit
D. Sits

19. my opinion he is very clever boy

A. On
B. For
C. With
D.In

20. The boy is standing there is my friend.

A. Which
B. Who
C. What
D. Where

21. | have bought a new car.

A. We



B. Myself
C. Herself

D. Yourself

22. | have been shortof money .| bought a new house

A. Although
B. When
C. Because of

D. Ever since

23 you like learning English?

A. Does
B. Are
C. Do
D. Have

24. Many laws have been made to deal with the against women.

A. Terror

B. Criminals
C. Difficulties
D. Offences

25. Ravi remembers the year when there was a flood.

A. Ravage

B. Bitter

C. Slight

D. Devastating

CHOOSE THE SIMPLE PAST TENSE FOR THE FOLLOWING:

26. STUDY

A. To study

B. Studying

C. Studied

D. None of the above.




27. WORK

A Working

B Worked

C To work

D None of the above

28 WALK

A Walkked

B Woke

C Walked

D. None of the above

A. Stopt
B. Stoped
C. Stop
D. Stopped

30. MEET

A. Met

B. Meeted

C. Meetted

D. None of the above

CHOOSE THE WORD WITH CORRECT SPELLING
==ONELT SPELLING

31.A new began in the year 2000.

A. Millennium
B. Millinium
C. Milennium
D. Mllenum
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32. At the top of the was the prime minister.

A. Hieriarchy
B. Herarchy
C. Hierarchy
D. Heiraarchy

s, in fact, he's actively

33. My husband is not religiou

A. Atheist
B. Athest
C. Athist
D. Atheit

34.The meeting is in ten minutes

A. Beginning
B. Begining
C. Begening
D. Bigining

35.Have you ever been to a country?

A. Foriegn
B. Fureign
C. Foreign
D. Foregn

CHOOSE ONE WORD FOR THE SENTENCES GIVEN BELOW:

36. Savitri travels by foot. Sheisa............
A. Traveller
B. Stickler

C. Disciplinarian
D. Pedestrian

37. Gayatri doesn't know how to read and write .Her friends call her ..

A. llliterate



B. Invulnerable
C. Blindfolded
D. Headstrong
, i f people of
38. Hissonisa ___as he lost his life in protecting the lives of p
this country.

A. Soldier
B. Martyr
C. Revolutionist
D. Philanthropist

39. One who does not show favour to anyone is called

A. Rude

B. Unfavourable
C. Impartial

D. Prejudiced

40. The one who looks at the brighter side of everything

A. Philanthropist
B. Pessimist

C. Atheist

D. Optimist

41. Someone who sells or grows flowers

A. Florist

B. Curator

C. Calligrapher
D. Astronaut

42. A shelter for dog

A. Lair
B. Coop

C. Kennel
D. Crib



43. An individual who is unable to express or interact easily

A. Extrovert
B. Introvert
C. Ambivert
D. None of the above

44. It is impossible to see through it.

A. Translucent
B. Fragile

C. Opaque

D. Transparent

45.  Shikha spends a lot of money on clothes. Her cousins call her a:

A. Frugal
B. Economical
C. Miser

D. Spendthrift

Identify the Adjectives from the following sentences:

46. She is afraid of the Ghost

A. She

B. Ghost

C. Afraid

D. None of the above

47. Sunday is the first day of the week

A. Sunday

B. Week

C. First day

D. None of the above
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48 Which book are you reading?

A Which
B Book

C Reading
D Are

49  Arjun is a brave boy

A Arjun
B Boy
C Brave
D Is

50 Please put those cookies on the plate

A Put
B. Cookies
C. On the
D. Those
PART -B
B0 3R IR F+ /

ARITHEMATIC AND GENERAL KNOWLEDGE
(50X1 = 50 MARKS)
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51. In an election to a municipal council, the votes secured by t\::;
candidates are in the ratio 13:19. The elected candidate gets 3112b\;othe
more than the second candidate. How many votes are secure

second candidate?

A. 988
B. 52
cC. 676
D 364

52 U 39 0P & UG HHANRAY DY YdH & a6 B sieq H Fafafad
oega ¥ F e 3R Rigd 79 8 8 A & ofd # a7 &b &
Fd A 1872

' Notes Number | Coins Number
| of notes of coins
‘Rs. 100/~ | 157 Rs. 5/-| 25
_ notes coins
'Rs. 50/- | 132 Rs. 2/- |48
inotes coins

Rs. 20/-| 52 Re. 1/- 1133
~notes coins

3.22674

&1 25,764

gt 23,694

31 24,667

52. A pay clerk has the following denominations of currency notes and
coins left in the cash box after payment to the staff: What is the total
amount with the pay clerk at the close of the day?

Notes  |Number |Coins | Number

of notes of coins
Rs. 100/-| 157 Rs. 5/- |25
notes coins

13




‘Rs. 50/~ 132 Rs 2/- 48
notes | ~coins ,
‘Rs 20/~ 52 Re 1/- 133
notes coins

A 22674

R 25764

C 23694

D 24 667

53 3 3 2) TATE 7P & R 12 TEHY A | I Pt b FEHT T
fdwea

3. 150
& 178
#1168
31155

53 Jessi ran 12 laps every day for two weeks. How many laps did she do
in all?

A. 150
B. 178
C. 168
D.155

54. 4 & UuH B UGH BT SRd &1 87

3. 16
& 18
4 20
31 14

14
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54. What is the average of the first six multiples of 47

A. 16
B. 18
C. 20
D. 14

55. Find the value of 45 +9x 3+ 15-6

A. 20
B. 22
C. 26
D. 24

56. T STSHT 1400 TUA H T TRfovet TGl & 3R I 155 & JHAH W
a1 21 Iefpa &1 faha Oeg w1 872

3. 1140
at. 1245
gt 1110
31, 1220

56. A man buys a cycle for Rs.1400 and sells it at a loss of 155. What is
the selling price of the cycle?

A. 1140
B. 1245
C. 1110

D. 1220
15




57 o0 Tl U W2 @ TR A Tt AT UH 3 2 W H g 7w e 3 \

R 8 U R
T100

& 180

150

21200

57. A train travelling with 90 KMPH speed covers a distance in 2 hours.
What is the distance covered?

A. 100
B. 180
C.150
D.200

58. 50 faenfial &t TH P & 40% TSHAT & | H&T | Tsipal B T I1d
Piford?

3. 10
dt15
€20
81.25

58. In a class of 50 students, 40 % are girls. Find the number of girls in
the class?

A. 10
B.15
C.20
D.25

16
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/59 7/20 & ufdwg A F5 |
3. 25

& 35
@ 30
&g 27

59 Convert 7/20 to per cent.

A 25
B. 35
C. 30
D. 27

60 TS I 2 12160 A T TH @lter iR uRkas & AT T 340 &1 YA
Ry fF 397 32 212875 B a4 fa. 37T ATy F1d BifoTT |

T.350

& 375
|t 275
3t 400

60. Ashish bought an AC for ¥ 12160 and paid ¥ 340 for transportation.
Then he sold it for 12875. Find his profit.

A.350
B. 375
C. 275
D. 400

61. 270 3nadf udten 7 9%, o § 252 Idtof gu| Iiiof wfara 8
T. 92.50

& 94.33

17




Tq 9333
. 9250

81. 270 candidates appeared for examination of which 252 passed. The

pass %18

A 9250
B. 94.33
C.93.33
D. 92.50

62. 18265+2736+41328="
T) 61329
ah62239
62319
3162329

62. 18265+2736+41328="7

A. 61329
B. 62239
C.62319
D. 62329

63. 9 3R TG A 30T B Yofl & 1Y T Hadd L= HaT| HHRT: 4000/-
3R 6000/- YT BT ATH HHMAT| 1500/- 7 BT fgwan fba1 82

T. 500
&t 600
4t 700
3t. 900

18
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63. Ram and Shyam started a business with capitals of RS 4000/- andf
6000/- respectively and made a profit of Rs. 1500/- what is the share ©
Ram?

A. 500
B. 600
C. 700
D. 900

os PrERIRS FErsl ¥ FHE B1 3wd I1d B 65, 85, 70, 90, 3R 105
3. 80
. 83
.75
3160

64. Find the average of the following set of numbers. 65, 85, 70, 90, and
105.

80
83
75
60

oow>»

65. 10 TEal F1 3lrgd 23 31 o Ud® Go | 4 F gix &1 91T, A T
3 gd &1 g2

3.25
& 27
1. 30
8l 32

19



85. The average of 10 numbers is 23. If each number is increased by 4

what will the new average be?

A 25
B. 27
C.30

D. 32
66_1500Wﬁ%ﬁ‘d%6ﬁ%?

3. 25
&1.20
.15
31.30

66. How many hours are there in 1500minutes?
A. 25
B.20
C.15
D.30

67 FeH 47 TSP 8| 75 aefrdl @) Tem A & T o S § ) FaT H
fpeft rsfepal 82
TA2
|20
Ht 14

3111

67. There are 47 boys in the class. This is three more than four times the
number of girls. How many girls are there in the class?

A12
B.20
C.14

D.11
20
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68. A B R TTQ Rurt ¥ ot Yo 2 16 fasit A Rt wwan ® A 8 I
P B 12 RA A 37 g @1 ¢ @ wgrin A, I A B HA 4
fa=T 2 g1 faran | fsz, ¢ ardbd apmef a2 wapell &

'ql 91/5 fa_’q
&t 97 fa
I 9¥efaa

gh1ofeq

68. A can lay railway track between two given stations in 1§ dayg aqd B
can do the same job in 12 days. With help of C, they did the jobin 4
days only. Then, C alone can do the job in:

A. 9" days
B. 9%° days
Cc. 9°° days
D. 10 days

60 35 BHET ¥ forg 24 AT & o 79 Y& 2. 6300. fbam ol # #9 L&
¥ 25 B & ey 33757

3. 18feA
& 15feA
g 12 e
& gfeq

69. The mess charges for 35 students for 24 days is Rs. 6300. In how
many days will the mess charges be Rs. 3375 for 25 students?

A. 18 days

B. 15days
21



C. 12days
D. 9days

70, 3T &) TR W R S F1d DI 3% Ufd I B G F 4 I8 &
RIT 10001- 3.

Tl 120

& 150
d 180
3T 200

70. Find the simple interest on a sum of Rs. 1000/- for 4 years at the rate
of 3% per annum?

A. 120
B. 150
C. 180
D. 200

71. R I § b fire 89 2>
3. 10,080
s 11,090
. 10,100
1. 10,090

71.  How many minutes are in a fuy|| week?

10,080
11,090
10,100
10,090

oow>»
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3 20
& 21
#t 22
& 23

25 How many dots are there in a dice?

A 20
B 21
cC. 22
D. 23
73 Prafef@a o A S W HYF 744 &

Tl %ﬁaa&%%ﬁfﬁmwmmaﬁémﬁmﬁm
fedeR & GHT B! S|

& verEte s ¥ edaial F e e sk a¥ 7 10 foF $T Hied
F uEal Bdt 8l

A HaAATE R

B. $ad B WE &

C. A&B I et &

D. Iqiad d @ &S 78

73. Which of the following statements are correct

a. Casual leave not availed of within the calendar year will lapse
at the end of the year i.e. on 31* December.

b. 10 days of CL are entitled in a calendar year for staff in
administrative office.

A. Only a is correct

B. Only b is correct

C. Both a & b are correct
D. None of the above.
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ACRRNCH
NG|
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& gl

74 Which planet in the solar system is known as the “Red Planet’?

A. Venus
B. Earth
C. Mars
D. Jupiter

7s.ﬁ%ma@mﬁqwm%?
Tl P
CITIY v o
dG o gid

S Ici

75. What element is the main constituent of diamonds?

A. Carbon

B. Oxygen
C. Silver
D. Gold

76'q’a“ﬁqmwmmmmm%

UG o
N e g
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76. Which sea is considered the most salty on Earth”?

A. Red Sea

B. Mediterranean Sea
C. Dead Sea

D. Black Sea

77.a®?ﬁﬁ@a$uﬁ$q&rﬁﬁﬁﬁ@a@@ﬁ%?

Tl 4
C I
dl 6
3 7

77 How many players are there on each side of the Basketball game?

4
5
6
F 4

ocow>

78 yRd H a4 e W g Yad WM $1 82

Tl TIRER
dl1 @A
d@ gl

g SR

78. Which railway station has the longest platform in india ?

A. Gorakhpur
B. Kollam

25



C. Hubli
D. Kharagpur

79. 781 Yo S 1 T DI T e 87
Tl D
A YTER
R YR
S EEIR

79. Which city is the headquarters of the Eastern Railway zone?

A. Kolkata
B. Bhubaneswar
C. Bilaspur
D. Hajipur

80. TSUTTTY T JUf =7 &1 87
Ul Uehlpd WId 3R AT Yurmed!
a1l Tdblhd dd- O 3R AT UTel!
I Herad! feaTd TAeHR JUeh

3 A TS

80. What is the full form of IPAS ?

A. Integrated Payroll and Accounting System

B. Integrated Pay sheet and Accounting system
C. Intermediate Personal Advisory System

D. None of the above

81. HRd & qdTH T e B9 & 72

& Rl Seu A AR
- S Tom M
St e T, doe oo
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1. Who is the current chief justice of india 77

A Justice Dhananjaya Y Chandrachud
B. Justice Uday Umesh Lalit

C. Justice Ranjan Gogoil

D. Justice N. Venkata Ramana

o o éqmmmmﬁf@mg7

gl A
SIBRCICACAY
@/ FACD
CIGIL SELS

82 In which Indian state is the ‘Nilgiri Mountain Railway’ located?

A. Kerala

B. Andhra Pradesh
C. Karnataka

D. Tamil Nadu

83.mﬁﬁmﬂﬁﬂmﬁ,ﬂﬁ$uﬂmﬁ:
Tl Hﬂ?ﬁuﬁﬁﬂmﬂﬁwafzmﬁﬂﬁl
@lmmﬂmﬁ%ooorﬁﬁmﬁmmﬁﬂml
A $aA T HE B
B. Had &t 9el &
.U & & 3 98 ©
D. Iuiad # § PIg 6.

83. In the recently concluded Paris Olympics identify the
statement :

a. Indian Shooter Manu Bakker won 2 medals .
27
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b. Avinash Sable won the Silver medal in 3000m,
steeplechase.

A.  Only A is correct
B.  Only B is correct

C. Both A&B are correct
D.  None of the above.

84 703 T et QR 2024 # 5w Sifiran A g9y ofiar &1 greaw
SIGIK

Tl %a?m;;ﬁ
& BEY

ok Rig
3l IER PR

84. Which actor won the BEST ACTOR award in the 70" National Film
awards 20247

A. Vikrant Massey
B. Rishabh Shetty
C. Ranveer Singh
D. Ranbir Kapoor

85. W%nwﬁwwmwm%aﬁwwm%ﬂ
) SFA Jifet
) Aaa sifvae
| O 3 e
&t wauf 3y

85. What is the Indian luxury train that travels through the heart of

Rajasthan known as?

A. Deccan Odyssey
B. Royal Orient

C. Palace on Wheels
D. Golden Chariot

86.Wmmmmmmmﬁmmmmm%?

28




86. What is the name of the anti-collision device used by Indian Railways?

A. Shakti

B. Yoddha

C. Shaktiman
D. Kavach

87. 78 RN S & fru Yed & Iaureend! aien maford g oI @
Tl &1 3t Hifde Tl
&t it ot enfde g

It Hrf Pt gIOEAT
gz A 3ig ot 7

87. Productivity tests are conducted in Railways in order to ascertain :

A. The physical progress of work
B. The financial progress of work
C. Remunerativeness of work

D. None of the above.

88. fAgfafad & ¥ &1 I/ HYF 7Tdd 8/87?
Ul TUITY & YR & @id UaH $dl 8: fear- 1 3k fear- i1
| safdad aes! & fou deq Rarsaift okl (@ SRY) grI

&
ffgeta ®yrft Yarfghy @rar ' (MeRue) R @t o g 3R
IYPT I@A4 fha1 o 2|
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A. 3T T TR §
I EREIRIIES
C.ua @A wE R
D. TRE § A HE TN

88. Which of the following statements is/ are incorrect??
a NPS offers two types of accounts: Tier-I and Tier-II.

b A unique Permanent Retirement Account Number (PRAN) is generated

and maintained by the Central Recordkeeping Agency (CRA) for individual
subscribers.

A. Only A is incorrect
B. Only B is incorrect
C. Both A&B are incorrect
D. None of the above.

sg.mmmﬁaﬁns‘ﬁqa@wmummm%:
Tl 10fem
& 15fem
It 20 e
gt 30 fm

89. Paternity leave granted to male employees can be availed for :

A. 10 days
B. 15 days
C. 20 days
D. 30 days

90. TTeTd HY &Y yggra:

U FHINE & mfye 3 gy YT 7 & uga f fasar omay 2

'H@Wuﬁwummmﬁmﬁﬁa‘ma%l
fawey.
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A FHIT T e R

B. Had ot Y& 2
cua R T
D. SR & § PIs Tel.

90. Identify the incorrect statements:
o the sta

belongs to Traffic Service.

Monthly wages are paid t # on the first day of the month.
a.

b. Chief Operations Manger
Options:

A.Only ais incorrect
B.Onlybis incorrect
C.Botha&bare incorrect
D. None of the above.

mm%m?ﬁa%aaaﬁmm%l
&\ YRS XA el deT aafﬁwméﬁﬁuaﬁaﬁ-eﬁam&ﬁﬁma—cﬁ
ﬁﬁ%ﬁ%ﬁ%%ﬂﬁ%mﬂmmm%

& 7 R & A
S zm A St T

91. What is Bid security?

A. Financial guarantee that a successful bidder provides to the
Indian Railways through a scheduled or nationalized bank.

B. Monetary guarantee that the Indian Railways use to discourage
bidders from withdrawing their bids before the bid validity
period ends

C. Both A&B

D. None of the above
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92 T 61 0T A a1 82
) 3R P TP F SR 3 &1 FefRor
&) o P W $1 3T & AR
R GARPRIRCES
B yEd A v & AR

82 What is Clause 61 of GCC?

A Determination of contract owing to default of the contractor
B Right of railways to determine the contract

C  Pnce variation Clause

D  Extension of time in Contracts

93 39 # Ba fAfY &1 ufawrd faran g2
Tl 39 & $d Hd DI 1% WaU™
& 3FHFE & o I BT 0.5% WaUH
| 3 & o e BT 0.25% Uau™

311 3FHH & $d g BT 0.1% Wau™

93. What is the percentage of Sports fund made in Estimate?

A. 1 % provision of the overall value of the Estimate

B. 0.5 % provision of the overall value of the Estimate
C. 0.25 % provision of the overall value of the Estimate
D. 0.1 % provision of the overall value of the Estimate

94, YRA 1 & Ugd Hics AR &1 ATH FaTg?
Ul & TH SR
| 99 e
| o Ui
311 3o Rig
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94. Name the first Field Marshall of Indian Army

A. KM Cariappa

B. Sam Manekshaw
C. Manoj Pande

D. Arjan Singh

95. @,as‘aﬁff%fﬁﬂfwaﬁqﬁﬂamaumd%-
) »facd

dh Ffca®s

ot Yo Re FfY

2 faem Y

95. Land, first cost of construction of new line is chargeable to -

A Capital
B Capital Fund
C Railway Safety Fund

D Development Fund

ge.ﬁa%@aﬁ%ﬁ?wﬁ?ﬂﬁaﬁﬁaﬁmqﬁ%?
1) o0 A S g ST MY
ah) WWWWM%W%‘TWWW
) it 3 &1 Hid g1 811 =16y
) gt e St oafd & @i & U g

96. Which of the following is not a canon of Financial Propriety?

A. Expenditure should not be more than the demand
B. It should not be used for its own benefit

C. TA should not be the source of income

D. Public money is for the benefit of a person
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U 40 91
35N
C 45T¥
2 50 a8

97 For the beneficiaries of UMID Card whose age is above 15 yrs,
renewal is done after attaining -

A. 40 Years
B. 35 Years
C. 45 Years
D. 50 Years

98. TAMS &1 quf &1 a1 27
T grdraTd ufty g&e= gone
o1 27 araT yeeH yomeht
. araraTa ARt TR vt
1. TraraTa T vee yomeh

98. What is the full form of TAMS ?
A. Traffic Assets Management System
B. Train Accounts Management System
C. Traffic Accounts Monitoring System

D. Traffic Accounts Management System

99.%%%1%@831%@6%@’@43%?

U Efamr srpian

&t 3

LAy

. WY 5 sfve
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99. Where is Angel Falls, the world's largest waterfall, located?
A. South Africa
B. Venezuela

C. Peru
D. United States

100.Waﬁﬁqf3?ﬂ@ﬁﬁmﬁﬁm35mmg?.

100. Simone Biles is famous for her skill in what sport?
A. Badminton

B. Swimming

C. Gymnastics

D. Cycling

RAJBASHA (OPTIONAL)
10 MARKS

101, TroruTT MfAfAaH 1963 Fd qIid §3f1?
101. When was Official Language Act 1963 passed?

10.09.1976
14.09.1949
26.01.1950
10.05.1963

COw>»

102. g e f¢ ) fae e 7T ST § 2

102. When is "Hindi Day" celebrated every year?

A. Fa3 26 / January 26
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B. S5/ June 5
c. RideR 14/ September 14
D. T4 8 / March 8

\osﬁﬁmﬁum»vﬁmmm%ﬂa‘fmmamﬂa}aﬂ
-
103 In which article is the provision regarding Official Language policy
available in Part V of the constitution?

A #7=32-120 / Article -120
B #=22-210 / Article -210
C #9=32-343 / Article -343
D #922-351 / Article -351

104 TSN AN F UYH JeAE A U2

104 Who was the First Chairman of the Official Language Commission?

A & .Sft. "W / B.G. Kher
B off.dt.Ud / GB. Pant

C Wdeldrd 98% / Jawaharlal Nehru
D Hgrd it / Mahatma Gandhi

105 Ty & sER dfafue Fami, fafradl ok smexl &1 sgare
FH FE © 2

105. As per the Constitution, who is translating the statutory rules,
regulations and orders?

A 3 #a1c /- Railway Ministry
B. fad #a1@g / Finance Ministry

C. g IHR-W /" Home Ministry
D. fafe #arera / Law Ministry

106. 3°7d S1E A ft (@i¥7a) SFIHIT &1 115 o gl U1 2
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106. Ig Whé(;h year Hindi (Parliament) section was established in Railway
oard”

A g8 (o5 ® / Inthe year 195
B a¥ 10c: # / Inthe year 196
C a¥ 1o7¢ # / Inthe year 197¢
D a¥ 1960 # / Intheyear 1960

107.%&m$$ﬁaﬁﬁa¥mﬁuﬁ?ﬂuﬁf%ww%?
107. Which elementary Hindi course is prescrib

employees?

A tay / Prabodh.
B wdiu / Praveen.

C. wvis / Pragya.
D. &% el / None.

108.%@%%3@&(@?%?

108. Who is the Chairman of Central Hindi Committee?

>

. Te 4l / Home Minister.
381 H@3 / Defence Minister.
Y& @@t / Railway Minister.
gy HA / Prime Minister.

oo™

109.mmﬁwwmﬁm$aw&{aﬁa%?

109. Who is the Chairman of the Divisional Official Language
Implementation Committee?

A HEH SIS sfidrdl / Divisional Rajbhasha Adhikari

B. R HET Y¥d udysd , Additional Divisional Railway Manager
C. Hed iﬂ ydys® , Divisional Railway Manager

D. afty dea @ffe fiel / Sr.Divisional Personnel Officer

110 &S Fer/IuEE d@T W Y@d d1 gRI QU SHa REPR &1 4H fafae.
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110. Mention the name of the Award to be given for writing story/novel| -
writing in Hindi by Railway Board.

A. Td S8TgY QR YYHR / Lal Bahadur Shastri Award
B. WHdd QREBR / Premchand Award

C. IS TR YRHR / Rajeev Gandhi Award

D. MR R THd 9¥EPR / Maithili Sharan Gupta Award



